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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before you =-seseeeee to the next question, you should take some time to make sure
you're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—------ ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything [ had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—------ way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used - - when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a --———-- — matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s -——------ for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to --——-——-
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -—-——o J'' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You'll have a better chance of finding that unusual word if you look it up in a/an
hhhhhh dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—--- --= their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) --=----—- the desired crop relatively unharmed.
Some of these act by interfering with (12) —---—-- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites, railways and railway
embankments are not selective (13) ——-—— all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of arcas
(14) —=mmmmmmm as wildlife habitat.

Some plants produce natural herbicides, (15) -=~-—---- the genus Juglans (walnuts). or the
tree of heaven: such action ol natural herbicides, and other related chemical interactions, 1s
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4) which kill



14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension:

Directions: Read the following four passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

A variety of coagulation methods is available to prepare the rubber for dry rubber technology
processes. Since the properties of the rubber are affected by trace ingredients and by the
coagulating agents used. rubbers of different properties are obtained by using the different
methods. The major types of raw rubber are:

Ribbed smoked sheet (RSS) in which sheets of coagulum are obtained by vertically inserting
aluminium partitions into the coagulating tanks prior to coagulation, for example by addition of
acetic acid. The sheets are then passed through a series of mill rolls. the last pair of which are
ribbed and give the rubber surface a characteristic diamond pattern and which by increasing the
surface area shortens the drying time. The sheet is dried in a smokehouse at 43 60°C to give the
rubber an easily recognised smell.

16- According to the above text, which one of the following statements is correct?
[ ) properties of natural rubbers are affected by minute amount of formulation.
2) properties of raw rubbers are affected by trace ingredients and not by
coagulating agents used,
3) Properties of unvulcanized rubbers affected by large ingredients and by the
coagulating agents used.,
4) Properties of vulcanized rubbers affected by trace ingredients and by the
coagulating agents used.
17- There are many different methods available for coagulation to prepare the rubber
for dry rubber technology processes.
Which one of the following statement is correct?
1) Coagulation is one ol the methods in preparing natural rubbers for not wet
rubber technology processes.
2) Coagulation is one of the methods in preparing raw rubbers for wet rubber
technology processes.
3) Properties of raw rubbers are affected by trace ingredients and not by
coagulating agents used.
4) Properties of unvulcanized rubbers are affected by large ingredients and by the
coagulating agents used.
18- According to the passage, What is the method of obtaining sects of coagulum?
1) By vertically inserting aluminum partitions into the coagulum tank.
2) By inserting the aluminum partitions into the tank prior to coagulation. for
example by addition of acetic acid.
3) Inserting layers of aluminum partitions into the coagulating container.
4) Inserting vertically sheets of coagulum in alumimium partitions into coagulum
tanks.



¥ axio 366F youly | S A8 gozka (yge 3

19- According to the text, which one of the following statements is correct?

) In order to obtain RSS. the sheets passes through a series of mill rolls that
surface of last pair of them is not smooth to obtain a higher surface area.

2) RSS. passes through a pair of mill rolls, to get rubber surface characteristic
diamond pattern and which by increasing surface area shortens the drying
lime.

3) In order to obtain RSS. RSS passes through a series of mill rolls that surface of
last pair of them is ribbed to obtain a smooth surface area.

4) RSS, passes through a pair of mill rolls, to get rubber surface characteristic
diamond pattern and decreeing the surface are a shortens the drying time.

PASSAGE 2:

Crepes. In these cases the coagulum is washed liberally with water whilst being passed
between differential speed rollers of a series of two-roll mills. For pale crepe high quality latex
is used and the lighest colours are obtainable by removing a coloured impurity, .B-carotene by
a two-stage coagulation process. by bleaching the latex with xylvl mercaptan and by adding
sodium bisulphite to inhibit an enzyme-catalysed darkening process due to polyphenol oxidase.
Lower quality crepes. such as brown crepe. may be obtained from rubber which has coagulated
before reaching the coagulating tanks. for example in the collecting cups. on the bark and even
on the ground surrounding the tree.

20-  According the passage, which one of the following statements is correct?
[) Crepes with strong colours are high quality latex.
2) Crepes with light colours are high quality latex.
3) Crepes that are not pale are high quality latex.
4) Crepes with pale colours are low quality latex.
21-  Which one of the following statements is correct?
l) In order to have crepes of high quality, coagulum washed with liberally whilst
passed between differential speed rollers.
2) In order to have crepes, coagulant is washed liberally with water whilst being
passed between differential speed rollers
3) In order to have crepes. coagulant washed with water whilst being passed
between a series of two roll mills.
4) In order to have crepes coagulum washed with water while passing through
differential speed rollers.
22- Which one of the following statements is correct?
| ) Brown crepe coagulated before reaching the coagulation containers.
2) Brown crepe coagulated after reaching the coagulation tanks.
3) Brown crepe not coagulated on the ground surrounding the tree.
4) Brown crepe not coagulated in collecting cups and on the bark.
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PASSAGE 3:

Fiber reinforcement of rubber which is utilized in a wide range of application like tires,
conveyor belts and mechanical rubber goods although produced mainly with conventional
methods. is still subjected to constant improvement in design and materials composing it.
Synthetic fiber materials forming the skeleton of the rubber matrix composite have gone
through developments steadily since the first introduction of cotton fibers as reinforcing
material in tires. Today. while even more tenacious polyamide fibers are being brought into
market to meet the demands in increasing strength requirements, polyester with improved
modulus/shrinkage ratio. thus. improved dimensional stability competes with rayon. while
modulus/price ratio favors polyester usage, ravon still dominates in high performance tires.
Besides all the well established materialistic characteristics of fibers that favor their usage. still
the road conditions and economics of a country determine the domination of a certain
reinforcing material in certain applications.

In this presentation, in addition to introducing the new developments in synthetic fibers used in
tire cord and industrial fabrics application. latest market trends will also be covered on fiber
base.

23-  According to the text, the advantages of polyester fibers include —-—--------- !
1) Modulus/ shrinkage Ratio more tanacious
2) Ability of fiber to be used in high performance tires
3) Modulus/ Price Ratio — dimentional stability
4) Modulus/ Price Ratio — more tanacious
24- The factors influencing the choice of fibre are --—---——- :
1) properties of fibres — Road conditions
2) Materialistic characteristics — Road condition. economy
3) properties of fibres and economy
4) Road condition — economy
25- Improvement in the reinforcement of rubbers are happening in the:

1) Design and materials 2) forming methouds
3) stronger and cheaper fibres 4) use of new fibres
26- According to the passage, it is true that .

1) Economics are a decisive factor in chossing the appropriate fibres

2) strength of the fibres is the sole property which should be considered
3) modulus of the fibres are the most important factor

4) shrinkage of the fibres is Important factor

PASSAGE 4:

Raw rubber hardening occurs during storage. which has some effects on rubber products
manufacturing, The reason is that some linear rubber molecules are crosslinked through
interaction to form an unsolvable gel. There is a positive correlation ship between gel content
and mooney viscosity and Wallace plasticity with occurrence of a turning point on the
relationship curve.

The structure of crosslinked molecule (e.g. the size of crosslined molecules) also affects
mechanical properties of raw rubber. There is a significant positive correlationship between
crosslinking density and mechanical strength of raw. rubber. However. the crosslinking density
changes according to different clones of rubber. but no significant variation has been found
during storage.

Our experiments showed that the value of Plasticity Reversion index (PRI) gradually
decreased during storage. and that, the crosslinked molecules content increased without



§ dxiio 366F youly | S A8 gozka (yge 3

breakdown of the linear rubber molecules there for we think that, if the degradation rates of
linear molecule and crosslinked molecules of raw rubber are different when PRI value is
determined at a temperature of 140°C, the variation of PRI value can show changes of the
structures of linear molecule and crosslinked molecule. but cannot account for the poor aging
properties of raw rubber. A further study is yet to be carried out.

27- According to the passage
1) the amount of gel in the Rubber is alw avs the same
2) mooney viscosity of the rubbers increases with increasing gel content
3) Wallace plasticity of the Rubbers first increases with increasing gel content

then decreases

4) gel content does not affect properties of Rubbers

28- During storage of the Rubbers ------------- -
I) cross — link density of the Rubbers depend on the time of storage
2) break down of the molecules is accompanied by increase in cross — linking
3) cross linking density is the same for all the clones of rubber
4) the structure of the cross linked molecules increases

29-  The variation of (PRI) values shows
1) degradation of cross — linked molecules
2) the change of the structures
3) breakdown ol linear molecules
4) poor ageing properties

30- According to the passage, it is true that
1) Increase in cross — linking density causes a redu-::tlun in mechanical strength
2) increase in gel content. increases mooney viscosity
3) Ageing properties can not be accounted from PRI valves
4) PRI values are increased with storage
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